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QUESTION 1

A customer that uses a third-party storage array plants to set up Fibre Channel (FC) zones with the new HPE Synergy
12000 Frame. Which tool creates the FC zones in a Synergy solution? 

A. storage page in the Synergy console 

B. Virtual Connect module manager 

C. corresponding SAN manager 

D. Storage array command line utility 

Correct Answer: A 

 

QUESTION 2

How can a Synergy integrator increase the efficiency with which a Synergy solution can be provisioned? (Choose two.) 

A. Use Powershell to automate configuration and application of server profiles. 

B. Use Image Streamer to provide a stateless OS environment. 

C. Associate all Synergy frames with the same data center. 

D. Use a Multimodule Link Aggregation Group (MLAG) to automate link failover. 

E. Use Composer as a PXE server to automate OS deployments. 

Correct Answer: AB 

 

QUESTION 3

Which utility compares currently running firmware with the upgrade firmware for the HPE Synergy 40Gb F8 Switch
Module, which allows minimal downtime during the upgrade? 

A. SMU 

B. SUM 

C. VCSU 

D. ISSU 

Correct Answer: B 

 

QUESTION 4

A Synergy integrator needs a supported approach to update HPE drivers on HPE Synergy Compute Modules that run
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VMware ESX. Which resource should the Synergy integrator use? 

A. Integrity Support Pack 

B. Intelligent Provisioning 

C. ProLiant Support Pack for VMware 

D. Software Delivery Repository 

Correct Answer: C 

 

QUESTION 5

Refer to the exhibit. 

How should a Synergy integrator pair interconnect bays to set up redundant fabrics in an HPE Synergy 12000 Frame? 

A. Interconnect bays 1 and 2; bays 3 and 4; bays 5 and 6. 

B. Interconnect bays 1 and 4; bays 2 and 5; bays 3 and 6. 

C. Interconnect bays 1 and 6; bays 2 and 5; bays 3 and 4. 

D. Interconnect bays 1 and 3; bays 2 and 4; bays 5 and 6. 

Correct Answer: B 
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